
𝜆𝑖 𝑨 𝒙𝒊

𝑨 = (
4 −5
2 −3

) 𝜆1 = −1, 𝒙𝟏 = (1,1) 𝜆2 = 2, 𝒙𝟐 = (5,2)

𝑨 = (
2 3 1
0 −1 2
0 0 3

) 𝜆1 = 2, 𝒙𝟏 = (1,0,0) 𝜆2 = −1, 𝒙𝟐 = (1,−1,0) 𝜆3 = 3, 𝒙𝟑 = (5,1,2)

𝒙 𝑨

𝐴 = (
−1 −1 1
−2 0 −2
3 −3 1

)

𝒙 = (2,−4,6)

𝒙 = (2,0,6)

𝒙 = (2,2,0)

𝒙 = (−1,0,1)

𝑨 = (
6 −3

−2 1
)

𝑨 = (
2 0 1
0 3 4
0 0 1

)

𝑨 = (
1 2 −2

−2 5 −2
−6 6 −3

)

ℝ2 𝒖𝟏 = (1,0)

𝒖𝟐 = (0,1), (𝑘

𝑨 = (
1 0
0 𝑘

)

𝑨 = (
1 𝑘
0 1

)

𝑨 = (
1 0
𝑘 1

)

𝑨 𝑷−𝟏𝑨𝑷

𝑨 = (
−11 36
−3 10

) 𝑷 = (
−3 −4
−1 −1

)

𝑨 = (
−1 1 0
0 3 0
4 −2 5

) 𝑷 = (
0 1 −3
0 4 0
1 2 2

)



𝑨 = (
1 1
0 1

)

𝑨 = (
1 −2 1
0 1 4
0 0 2

)

𝑷 𝑷−𝟏𝑨𝑷

𝑨 = (
6 −3

−2 1
)

𝑨 = (
2 −2 3
0 3 −2
0 −1 2

)

𝑨 = (
1 0 0
1 2 1
1 0 2

)

𝑨 = (
0 −3 5

−4 4 −10
0 0 4

)

𝐵 𝑇 𝑇

𝐵

𝑇:ℝ2 → ℝ2: 𝑇(𝑥, 𝑦) = (𝑥 + 𝑦, 𝑥 + 𝑦)

𝑇:ℝ3 → ℝ3: 𝑇(𝑥, 𝑦, 𝑧) = (−2𝑥 + 2𝑦 − 3𝑧, 2𝑥 + 𝑦 − 6𝑧,−𝑥 − 2𝑦)

𝑨 𝑷 𝑩 =

𝑷−𝟏𝑨𝑷 𝑘,

𝑩𝒌 = 𝑷−𝟏𝑨𝒌𝑷

𝑨𝒌 = 𝑷𝑩𝒌𝑷−𝟏

𝑨.

𝑨 = (
10 18
−6 −11

) 𝑨6

𝑨 = (
3 2 −3

−3 −4 9
−1 −2 5

) 𝑨8

𝑨 = (

√2

2

√2

2

−
√2

2

√2

2

)

𝑨 = (
−4 0 3
0 1 0
3 0 4

)



𝑷𝑻𝑨𝑷

𝑨 = (
1 1
1 1

)

𝑨 = (
0 10 10
10 5 0
10 0 −5

)

𝑨 = (
2 0
0 6

)

𝑨 = (
2 0
1 6

)

𝑨 = (
4 1
0 4

)

𝑨 = (
7 0 0
0 −8 0
0 0 −8

)

𝑨 = (
4 1
0 5

)

𝑨 = (
12 0 0
1 12 1
0 0 12

)

𝑨 = (
5 1 0
0 5 0
0 0 −9

)

𝑨 = (
5 10 0
0 5 0
0 0 −9

)

𝑨 = (
12 1 0
0 12 1
0 0 12

)

𝑨 = (
12 1 0
0 12 1
0 0 2

)

𝑨 = (
−1 1 0
0 −1 1
0 0 −1

)

𝑨 = (
1 1 1
0 1 0
0 0 1

)

𝑨 = (
4 0 1
2 3 2
1 0 4

)


